Principles of Algebra

Name/Date e lee / TOC’A\{

ALL PROBLEMS CAN BE COMPLETED ON THIS WORKSHEET
WS 5C.1 -~ Applications of Percentages

1. Josh earns a weekly salary of $300 plus 6% commission on all sales. Last week, his sales totaled $3500. What was his
total pay?

Commission: &7, oF 3500 Tofal pay = Salary + Commissiog
part /. X b = 200 + 2100
whele 00 3800 |00 = 2400
00 x = 21000
x = 3100 Josl's hial pay was 72400 .
2. In a state with a sales tax rate of 7%. Francisco buys a pair of jeans for $59. 99 and a graphic tee for $13.99. How
much is the sales tax?

total sales = §54.44 Sales tax: 7/ of 73.9%

+ [3.49 part _ L LI
ﬁ 43 0‘(‘ whole |00 73.0% [0O
[00x = 517.%6
The salestax (s 95.13.

2518

3. Last year, Emily earned $33, 095. From this amount, $7466. 38 was withheld for taxes. To the nearest tenth of a
percent, what percentage of her income was withheld?
What percent of 33045 is FYbb.3% (

part _ b Y6038 | X _5 33045x = +Y4b63%
whole (00 23045 |00

X X Q.6
Rbost 2A.67. of Emily’s intome was withhe)d .

4, Liam works as a salesperson at an electronics store. If he earns $116.82 from a 9% commission on the sale of an LCD
TV, what is the price of the TV?

1652 is 47 of what nusber

port /. bsd _ 92 Ax = 11632
whee " (00

¥ 0 x = (308

The pn'ct of the TV is Sﬂ [A4%.




5. Luisa earns a weekly salary of $450 plus a 7. 5% commission on sales at a hobby store. How much would she make in a
week if she sold $4300 worth of merchandise?

Commission: 1.57 oF Y300 total pay = SA(MT + Comwmission
pact L x 35 = 450 + 324.50
whele ~ oo Y4308 00 . 722.50

100 = 3250

~x = 328.50 | visa camed o total of §732. 50,

6. The sales tax rate in Albin’s state is 5. 75%. If he purchases 4 chairs for $124. 99 each and an area rug for $659. 99,
how much sales tax does he owe?

q.124a4 + 65004  sakstax: 5757 of [154.45

188,00  654.90 pact L x 538
1A whele 100 115245 " (oo
4]154.45

100x = (664.F125
X % b6.70

total sales

I

Albin owes H56.70 soles ax.

7. Jomby typically earns $570 each week, of which $111. 15 is withheld for taxes. What percentage of Jomby’s earnings
are withheld each week?

N hat percent of 530 is 111157
pact L IS ¥ 530« = LIS

-
- e —— -

whele  [00 570 [00 ~ = ].5

18.5/ 2% Tomby™s earnings are withheld.

8. Lila works in a clothes shop where she earns a weekly commission of 5% and no weekly salary. What will Lila’s sales
have to be in order for her to earn $375 in a given week?

3?5 is 5/ oF what numb«-?

poct L 3 S 5x=37500
whele 100 X e = 7500

Lilos sales must be d7’500 for hec 1o eacn ¥335 in Commission,




